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CHEMISTRY HSSC-II
SECTION — A (Marks 17)

Time allowed: 25 Minutes

NOTE:- Section-A is compulsory and comprises pages 1- 2. All parts of this section are to be answered on the
question paper itself. It should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i)

(iii)

(iv)

(v)

{vii)

(vili)

(ix)

Which of the following oxides is most acidic?
Al (&5 B AlLO,

C B,0, D. cro,

Chemical formula of plaster of paris is

A CaSO, L H,0 B. (CaS0,),.H,0
c CaSO,.2H,0 D. Both Aand B
QOrthoboric acid /1,80, when heated to red hot, gives

A. HBO, B H,B,0,

C. B,0, D. 1,80,

Salts of HCI(), are known as

A, Hypochlarite B. Perchlorate
G Chlorite D. Chlorate

Oxidation state of 'Co'in |Co( NI, 1. CLICT is

A +3 B. +1

C. 42 D =2
Increasing order of electronegativity is

A CleS <P B S<Cli<P
Cc P<8S<Cl] D S<P<(l

When (), is bubbled through an aqueous suspension of CaC'O), | the product formed is

A. Ca(OH), B Ca( HCO,),
C. H,CO, D. H;0

Which of the following pairs of substances is Isomers?

A Ethyl benzene and 3, 3-Dimethyl pentane

B Cyclopentanol and 2 — Pentanone

Cc. 2 — Pentanol and 3 — Methyl butanone

D Propyl ethanoate and Methy! propancate

Chlorobenzene reacts with ‘Mg’ in dry ether to give a compound ‘X', which further reacts with
ethanol to give

A Benzene B Phenol

C. Ethyl benzene D Phenyl ether
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(x) When ethyl iodide reacts with sodium methoxide, it gives

A Methyl ethyl ether B. Diethyl ether
C. Ethanol D. Sodium ethoxide
(i) Acetone undergoes reduction with zinc amalgam in HCI to form propane. This is known as
A Clemmensen reduction B. Wolf Kishner reduction
C. Aldol condensation D. Hydrogenation
(xii) Which of the following is an addition polymer?
A Polystyrene B. Polyester
c. Epoxyresins D. Bakellite
(xii)  Which of the following is NOT present in RNA?
A. Uracil B. Phosphate
32 Thymine D. Ribose
(xiv)  Which of the following primary alcohols will give lodoform test?
A Ethanol B. Methanol
C. 1 - Propanol D. 2 - Propanol
(xv)  Which of the following contains oxygen as hetero atom?
A Furan B. Pyrrole
C. Thiophene D. Pyridine

(xvi)  Kolbe's electrolysis of sodium n-butyrate (CH,CH, CH, COONa) gives
A vl B. (829
c. (009 5 6% D. Ctls

(xvii)  Acetic acid undergoes reduction with LiAlH, to give

A Ethanol B. Ethane
C. Ethanal D. Ethyne

For Examiner's use only:

Total Marks: ES

Marks Obtained: L]
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CHEMISTRY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE:- Sections B and C comprise pages 1 — 2. Answer any fourteen parts from Section ‘B’ and any two
questions from Section ‘C’' on the separately provided answer book. Use supplementary answer
sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 42)
Q.2 Attemptany FOURTEEN parts. The answer to each part should not exceed 5to 6 lines. (14x3=42)

(i) a. What are Complexes? 01

b. Write the systematic name of the complex K, [Fe (CN),]. 01

c. Why Fe'ions do not exist in solution? 01

(ii) a. Give the electronic structure of nitrous acid. 01
b. Nitrous acid decolorizes bromine water. Explain this behaviour with the help of

chemical equation. 01

c. Write a balanced chemical equation to show, how nitrous acid oxidizes H/ . 01

(iii) Give reasons:

a LiCl is covalent but NaCl is ionic. 1.5

b Phosphorus forms both PC',and PCI; but nitrogen forms only NCY, 1.5
(Iv) What is the action of heat on:

a. LiNO, b. NaNO, c LiOH 1+#1+1=3
(V) a. How is borax prepared from colemanite? 1.5

b. Give the chemistry of Borax Bead test. 1.5
(vi) Oxides of relatively less electropositive metals are Amphoteric in nature.

a. Zn() is amphoteric. Justify this statement. 02

b Arrange the following oxides of Manganese in order of increasing acidic character: 01

Mn,O, . MnO , Mn0O, , MnO,

(vii) a. Write down the names and formulae of two oxyacids of chlorine having +3 and +7
oxidation states. 02
b. Why are the oxyacids of chlorine stronger than the corresponding oxyacids of
bromine and iodine? 01

(viii)  Give complete and balanced chemical equations for the reaction between:

a Zinc with conc. FINO, 01
b. Copper with hot conc. /1,50, 01
c. NaBr with cone. 1,50, ‘ 01

(ix) a Write down the names and formulae of two non-silicate ares of aluminium. 01
b Explain why Aluminium is used in flash light photography? 01
(o Explain why Aluminium is often used to remove air bubbles from molten metals. 01

(x) a What is the effect of branching on the boiling points of Alkanes? 01
b What are the three different alkenes that yield 2 — methyl butane, when they are

hydrogenated in the presence of a catalyst? 02

(xi) Explain why:
a. Hydroxyl group (-OH) in phenol is ortho-para directing. 1.6
b. Phenol undergoes Nitration faster than nitrobenzene. 1.5

Page 1 of 2 (Chem)


















